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an .

e Oilseeds, Increased
2SOty has added huge
€ granaries. India is

ducers of rice, wheat,

uarter of
1d. On l:'11_1_1undel‘m:)urished people in
tal expendity AVerage, almost half of
Ids i ™ of nearly half of the
holds is on fooq.

u;mch among the following is the most
ogical corollary to the ahove passage?

(@) Increasing the efficiency of farm-
to-fork value chain is necessary to

reduce the poverty and malnutri-
tion.

(b) Increasing the agricultural
productivity will automatically
eliminate the  poverty and

malnutrition in India.

(c) India’s agricultural productivity
is already great and it is not
necessary to increase it further.

(d) Allocation of more funds for §o<_:ia1
welfare and poverty alleviation
programmes will ultimately
eliminate  the poverty  and
malnutrition in India.

D-CLYS/71B

thread which t 1d the Centre ig the

ms them into a
T
thread snaps, the pearis s Ma:;‘;‘::e: if the

46. Which one of the

followin ;
corroborates the aboy, Tk Views

€ statement?
(@ A strong Centre and s

trong Stat
make the federation strong, v

(b) A stror%g Centre is a binding force
for national integrity.

(c) A strong Centre is a hindrance to
State autonomy.

(d) State autonomy is a prerequisite for
a federation.

Passage—7

Really I think that the poorest he that is in
England has a life to live, as the greatest he,
and therefore truly, I think it is clear that every
man that is to live under a government ought
first by his own consent to put himself under
the government, and I do think that the poorest
man in England is not at all bound in a strict
sense to that government that he has not had a
voice to put himself under.

47. The above statement argues for
{a) distribution of wealth equally to all

(b) rule according to the consent of the
governed

(c) rule of the poor

(d) expropriation of the rich

GIERE
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five teachers A B
teach Hindi ang
ch English and
ach Mathematics

oY Two walls and o ceiling o
n.ght angles at 8 point PQ LT
air 1 m from :

B tea

hy. p
v and 4 :
te one waly, g * rll N the

a f other
teach H wall and 9 Tom
ho tcac lstOTy and H fl'Qm the i the
e i OW many 1 : Poi
S maximum number Wi meters is the fly fro:-:t‘:
(a) 4
] B
: D (b) 6
N 3 (d) E _—
Y c
;‘i'.
B =3 ~digi
§ B A ? digit number is reversed. The larger (@) 15
P o ;11'116 tWo numbers is divided by the
f Smaller one. What is the | i
E ) remainder? ERiecstipossible Directions for the following 3 (three) items :
g ' Consider the given information and answer
B (@ o the three items that follow.
.' Eight railway stations A, B, C, D, E, F, Gand H
b (D)2 are connected either by two-way passages or
G one-way passages. One-way passages are
@Fi(c) 36 from Cto A, Eto G, Bto F, Dto H, Gto C, Eto C
} and H to G. Two-way passages are between
‘ (d) 45 Aand E, Gand B, F and D, and E and D.

56. While travelling from Cto H, which one of
; the following stations must be passed
54. The monthly incomes of X and Y are in o

the ratio of 4 :3 and their monthly

expenses are in the ratio of 3:2.

However, each saves ¥ 6,000 per month. (@G

What is their total monthly income?

(a) 28,000 (b) E
- & 42,000

(b) e
. (¢) ¥56,000

(d) € 84,000 (d F

31
LYS/71B
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In hOW m

B.ny diff
{-)
trav:l g}from F t;‘e g w&'yg can a train 59. Th
oy : Frithows ; P ere are certain 2.
y Station i };ﬂssmg difference between t?lte ST, The
nce? the one obtained on re!\::::ib“ see
always 27. How many such r:::.xi“ e
g 2-digit numbers are there? i

(b) 2 (82
(b) 4
(c) 3 4
{c) 5
(d) 4

(d) None of the above

: If the route between G and C is closed,

which one of the followin i

ot b i gs‘tatmns m?ed 60. What is the total number of digits
; € passed through while travelling : if R

B o o printed, if a book containing 150 pages
! is to be numbered from 1 to 150?

(@ E (@) 262 ;

(b) 342

D-CLYS/71B -
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e8 and answer
Passages. your
be based on the

m::l;utmnﬂ. identifica-

€ad to ambivalent
SOFne People may
With  traditional
themselves with

'61. Which one of the g
] nel ofithe ollowing ;
Y ‘Owing is the best
€xplanation of the above passage?
(a) Political development is not a

ul.lﬂinear Process for it involves
both growth and decay.

(b) Traditional societies succeed in

resisting  positive aspects of
‘political development.
() It is impossible for traditional

societies to break away from
lingering loyalties.

(d) Sustenance of traditional loyalties

is conducive to political
development.

Passage—2

a significant trend worldwide

ere has been ;
- nt, resulting

s regionalism in governme ;
despread transfer of pc.w?rers fiownwar s
regions and communities sm_ce 1990s.
)CESS, which involves the crcat]l:,on otf neawl
entities and bodies at-a su -nation:
"4 an increase in their content and

LYS/71B

35

powers, is knou:’n as dcvo].ution, Devolution %
been characterized as being made iy 4 t.h:‘
factors—political legitimacy, dt;-.t':c:ntranmt_m“e‘:f
authority and decentralization of resources
Political legitimacy here means a mass deman('i
from below for the decentralization process,
which is able to create a political force for it to
take place. In many cases, decentralization is
initiated by the upper tier of government
without sufficient political mobilization for it at
the grassroots level, and in such cases the
decentralization process often does not fulfil its

objectives.

62. Which among the following is the most
logical, rational and critical
inference that can be made from the
above passage?

(@) Emergence of powerful mass leaders

is essential to create sub-national
political entities and thus ensure
successful devolution and
decentralization.
The upper tier of government
should impose devolution and
decentralization on the rtegional
communities by law or otherwise.
Devolution, to be successful,
requires a democracy in which
there is free expression of the will
of the people at lower level and
their active participation at the
grassroots level.

(b)

(c)

For devolution to take place, a
strong feeling of regionalism in the
masses is essential’

Passage—3

(d)

We live in digital times. The digital is not just
something we use strategically and speéiﬁc ' y
to'do a few tasks. Our very perception of whe
we are, how we connect to the world around us
and the ways in which we define our
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an'mn

: o=t the
lmcq Sy Ollow-m
_"ge,nvey L ang ¢ g is the

edp by‘x‘the bbv "ﬂ‘u message
Bage'?

'8 digital technologies.

)n

I sy
S;J:alung of dlgltal technologles is
aklng of our life and living.

= r*l- .,-,"m_ BYF

f:annot be ex‘;g%?:sed without digital

8 Fliforitt

'é' ‘existence of mankmd in
BB tuturcifes! i T spEi
= 1

épbmted‘ out f{hab the fast growing

ﬁAsm face the risk of falling into

. trap’. It means that average
tgcsg countries, wh1ch till now have

4 rrp]al ¢ ‘ stop growmg beyond
; f incomes

t that 1s well short o
plzi;cd ‘West. The IMF identifies a
U ses of

i’n'id"dlc-mc"me trap—none

 infrastructure to

37

Weak institutions, to less than favouran)
macroeconomic conditions. But the 'broa:
overall cause, says IMF, is a collapse iy the
growth of productivity.

64, Which among the following is the most
logical, rational and  critical
inference that can be made from the

above passage?

(@) Once a country reaches middle-
income stage, it runs the risk of
falling productivity which leads to
stagnant incomes.

Falling into middle-income trap
is a general characteristic of fast
growing economies.

(b)

There is no hope at all for emerging
Asian economies to sustain the
growth momentum.

(c)

(d) As regards growth of productivity,

the performance of Asian
economies is not satisfactory.

Passage—5

An innovative India will be inclusive as
well as technologically advanced, improving
the lives of all Indians. Innovation and R&D
can mitigate increases in social inequality
and relieve the pressures created by rapid
urbanization. The growing divergence in
productivity =~ between  agriculture = and
knowledge-intensive manufacturing and services
threatens to increase income inequality. By
encouraging India’s R&D labs and umvcrsmes
to focus on the needs of poor people and by
improving the ability of informal firms to absorb
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knowledge an j
. n

can counter 0 o
lower the cost effe a
e
income-earnj S of d Clugj arch agenda L AT R 1
people. g OPpg Fiﬂe o3 OVation can i St.- 1-1f e:: is a ncﬁfi t.o Tecognize
Nitieg - S ang dreata llgra ion of such people within the countﬁ:;
> ’ or also so that their problems
65. Which the poor i P can be addresseq
loyic
a fi {
o belq d tioo OWing T 66. Which of the following is the most
Mmagd na € most ot
(= rational inference from the
ih SUmpgy above
e &bovepp ot passage?
i assage? q
(a) Inno'vati . B (a) The world will not be able to cope
wasls on and R&D Bk with large-scale migration of
migl'ati(:) redyce I'uralls the only climate refugees.
= ' to urban (b) We must find the ways and means
(b) to stop further climate change.
E SRR A
Yo Tapidly . (c) Climate change will be the most
needs_ to min; _Browing country important reason for the migration
between Pi'Oduc e the divergence of people in the future.

ty in agri
# i agriculture (d) Relation between climate change

and Othér se
: and migration is not yet properly

ctors,

(¢) Inclusive INhovay 2 e understood.
hel ation and R&D can
P create an egalitar e iety Passage—7
Many farmers use synthetic pesticides to kill
d) Rapi seseny: infesting insects. The consumption of pesticides
(d) apid urbanization takes place . g pe :
only when a cou (57 in some of the developed countries is touching
ntry’s economic
growth is rapid, ' 3000 grams/hectare. Unfortunately, there are

reports that these compounds possess inherent

bl toxicities that endanger_ the health of the farm

Passage—6 7 operators, consumers and the environment.

Synthetic pesticides are generally persistent in

environment. Entering in food chain they

destroy the microbial diversity and cause
ecological imbalance. Their indiscriminate use .

Climate change is likely to expose a large
number of people to increasing environmental
risks forcing them to rnigl'a:te. Tl}e international has resulted in development of resistance
‘community is yet to recognize this new category among insects to insecticides, upsetting of
of migrants. There isifnoMicansEnsus . .on Fhe balance in nature and resurgence of treated
finition and status of climate refugees owing populations. Natural pest control using the
the distinct meaning the term remgees gar botanical pesticides is safer to the user and the
der international laws. There are 51111 gaps in environment because they break down into.
B nding how climate change w111 work a.s harmless compound§ within hour's or days in
t cause of migration. Even lf tha?re 18 the presence of sunlight. Plants with pesuciﬂa‘l
soo" y refugees, Who iS going to properties have been in nature for millions of
: g(;u gon ff ﬁ:ﬁ;tidom emphésis has been years without any ill or adverse 'ef{eciia >
ide protec

: : :oration due to climate ecosystem. They are easily deco
2 to international migra

39
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67. On the basis
O

followsi
OWing assy t‘e abbve &
1. Synthetje 1008 have 1. 8¢ the

. €en mad o

e u S Ci c:

- Sed in m des shoulg never
M€ of the 8griculture.

agricultyre | alm

S of g .
ecologica] i Ustainable

ensure A
minimal
ce,

(@) 1 and 2 only
(b) 2 only

(¢) 1 and 3 only
(d) 1,2 and 3

68. Which of the following statements is/are
correct regarding biopesticides?
1. They are not hazardous to human
health. '
2 '“Theyate persistent in environment.

3. They are essential to maintain the
biodiversity of any ecosystem.

Select the correct answer using the code
given below.

(@ 1 only

(b) 1 and 2 only

(¢ 1and3 only

(@ 1,2end3

~ AMC-D-CLYS/71B

69. Certain 3-digit numbers have the

following characteristics :

1. All the three digits are different.

2. The number is divisible by 7.

3. The number on reversing the digits
is also divisible by 7.

How many such 3-digit numbers are

there?

(@) 2
(b) 4
(c) ©

(d 8

70. Examine the following statements :
1. All colours are pleasant.
2. Some colours are pleasant.
3. No colour is pleasant.
4. Some colours are not pleasant.

Given that statement 4 is true, what can
be definitely concluded?

(@) 1 and 2 are true.
(b) 3 is true.
(c) 2 is false.

(d) 1 is false.
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:" How man
- 99 and 10(;:;1-‘.‘.1?51‘5*
OcCupies the y Such there between

74. P works thrice as fast as O e
’ cas

) o P and Q together can work four times as
. fast as R. If P, Q and R together work o;'\
PR p a job, in what ratio should they share
the earnings?
c) 9
(c) 0 ; (e)) @il g il
(d) 104 12) Earea
7 () GEB&I8s
2. If for
a Sample data
(@ 30

M
T S MedimnieR
Ode

then the distribygq,, -
{ > 75. Consider the following relationships

among members of a family of six

a S i
(a) yYmmetric persons A, B, C, D, E and F :
(b) skewed to the . ; 1. The number of males equals that of
females.
(c) neither symmetric nor skewed 2. A and E are sons of F.

D is the mother of two, one boy and
one girl.

(d) skewed to the left 38

i 4. B is the son of A.

73. The age of Mr. X last year was the square
of a number and it would be the cube of
a number next year. What is the least

5. There is only one married couple in
the family at present.

he must wait for his

n“mberb"f Ycar:heecube e Which one of the following inferences
age’ tg CCOTL can be drawn from the above?
again’

(@@ A, B and C are all females.
(@) 42

(b) A is the husband of D.
(b) 38

(c) E and F are children of D.
fc) 25

(d) D is the daughter of F.
(d) 16

43
{c-D-CLYS/71B
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6. A bag Contalns
green, 7 are

is the it Oanﬁ &Ilb
minj

must be _:um n‘?be!-are A

blindfoldeq (Wlthd’ s frof: ballg that

to be assure d ut . TeDlacis € bag
of n any of lt]

ball of each D}cklng atg east

(a) ‘; One

(b)

(c)

fd) - 11 A E )
J I.‘f

\77. If 2 boys and 2 gir

in a row sg that

to each other, t}l:e \glrls are not next

arrangements are the many possible

43

(@) 3 3 7
(b} 6 oy i g
) 12588 | o i

[d) 24

78. The outer surface ofa':i e <4 cm
cube is pamted completely in red. It is
sliced parhﬂcl to the faces to yield
sixty four lemX lecmxlcm small

cubes. How many small cubes do not
have painted faces:?

(@) 8 B
(b) 16 A
[c) 24

(d) 36

45

79. Consider the following-_

A, B, C, D, EEHNSEIN T
standing in a row facing North b

B is not neighbour of G,

Fis to the immediate right of G and
neighbour of E.

G is not at the extreme end.
A is sixth to the left of E.

H is sixth to the right of C.

Which one of the following is correct in
respect of the above?

(a) C is to the immediate left of A.

(b)) D is immediate neighbour of

B and F.
(c) G is to the immediate right of D.

(d) A and E are at the extremel ends.

. In a certain code, 256’ means ‘red colour

chalk’, ‘589’ means ‘green colour flower’
and 254’ means ‘white colour chalk’.
The digit in the code; that 1nd1cates

‘white’ is
(a) 2
(b) 4
() 5

[d 8
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